wTﬁs’Os’)%)
J:l  AB,C
;7 AR

1:3 A

]"9 B (/4 IS nmé 1/7016 ——(,L/h? rm@ bt/zé 0%/ /7'[/6’5 /0 /701[
corolale wilh Lhe 54/4@

15 A [B s vot trae - {he /(nlerd?émf/w'? K—@%/og
g Agﬂmf'/&(@ S/YM(AAM) but the solayr
\M’m? Elow 1S €Ssembia //7_ ra»//a/)

16 A /atmd power ['ne éprdéms rebled & vislent
evenlts on the sun are Ave to chﬁxmﬁ/n7
66&«44@%[:"5 cuLreen écJ which have more
Lo chy unth solar VV{V\&Q Jzﬂ&féﬂ/}fw(&%@

o which the bpical bimesaate fo react
Lho Eacth s G/Ac(js) not- & minutks , so 5
€ not 14/1//7 rormaf)

'+ B ¢
Iy A, C
1.9 A,C

)0 8



T05031) )7 )
A Lhe monsbes Shool éhe 10ms at an anﬁé 4,
by Lhe ma@neék Liold | this will be éhe ///c%/
Aw@/c of {he jovs af /oi’m‘ A :

O<[2 = 9& (’)
Frow Lhe consrvabon of energey
= = —’1)44\/1 = (“Omd(zmé (Z>
Awp/ Hte ap//ﬁéf\/fc /Vtvmr/«na? &7[ (Zﬁe O/éz&( /Mﬁm/r/
proment |
C L 2 ,
PRl Lk S L PV E)
K . B B
L Bollows Lhat t%—i( alie (S Conslant, 5 lhat
3’1}\/\10(& _ w’, : %10% //,/)
Ea Ee K5
The lous are MAﬁnéé'm//ﬁ mirrored al fhe fofmf where
Yot = 1. Ip this 090('/4/ /S be tween, A am:Z}OJ E/@

7’0n§ will never Wcé\ P &m# Cyrin back ts A [mm C_),
€ the mirror fafn{ lies detweers L aund P, the jous
wi ({ reach )DJ mirror anJ o back o A (case 8),
r{m//@) 't the mitcor Vofn# Vs below O, the lons are (s -
n e fowsﬂere 5o Lhat (“’/\eﬁ reach P wilhout cver
COW\M@’ batk {6 & (CM@ 4). We have (n t4is case

A Sf;f\/\lo(& - ?z‘rv‘lég A
B Ea Ba
=) EV"\ = B& = Ba' = LIEQ :Q/AT

R
Hence 5 B.. < EF) so the (ons mirror at a doom-f
J’)DL.Aﬂn.A D N ” ﬂ /ﬁ,.(‘n /-\ Cﬂ.fjr o ..\,.'u/\,f \.I). “/&D J/Ap



-f050311/3)

(”\) The a&:msfﬁé (S Vero& low avw( the Sﬁﬁé@&{
S L\}@h Comymeoe to éyﬂm‘m( values of
5 em™ and 400 kufs | bt the solar
WEV& S V€f’7 Variable QW&() the values
Are Sl[f/( CILM'\(ﬁ VLMMﬂ/f

(b> We assume A pressue balance Afﬂ«f?ﬂq

H\Q SO(N MMC@ é/amm{c f‘rCSSMrf’
[ momen b Flox)

)

(PSW e V”V\‘/l ([)
and he Mﬁ@hﬁé’c yrffjhrf nsicle ¢he
Mﬁﬁmeﬁosﬂml

Pe = L (1)

Z/Wo

[ne@(e(/w'ng Chermal pressuc in the anfﬁ.yém )
ASSV\M;V@ A p((Wo/E A?/ﬁ/
3

g =5 (5) (3)
we agef
o B e f &)
nmy = /,2/‘/1'0" s
_ Bt " (£)
r= 025 [Z/wunn/\\/l]



B RRR ki

Are @fve»m. bor an esbimale | we My ke the
é@dwca( Solar WI'V\AQ fm/v‘cle raass to e

M= Mgrokon
and on Lhe @rouw@' ve howx

B, = 30 »T.

Hence | we ﬂefé
[
B (30 107%)
Tz [zvézfz'/a‘* 0.5-10% 510 fgrrir) ) Re

~ |l Re

() The ont-of-ecliphe (%) conponeni of
the |MF contils rewomnechom ot €he
V\/\ﬂ\@nc,faomux. for SOWLAWM&Q [MF (53 <0))
the IME auvd e aeomaﬁmeé'c Gelld are
06)0705/4% dieckd | avd recommecton,  cay
pacur ot e 0/0\75\‘0/6 Mﬂtﬁne/’dfﬂ\mf,
This canses émmswor# 01[: /\mﬁncéb ,QW(
bo the il whert ne he energg ca
be O)E(POQ f wnt'( f\f/‘@ﬂSPX (N A Substrm .

MﬁV\CQJ SMbS(LOW"lS AL more (omm on %Mn/ma
IMF B% <O) Wz’HCLI (S él(e MEASOY @r wktﬁ

Fhis COMWOM?&% (s M{WES/W(MJ,



TOS0311 /4 )
(4> E?W\/v’am 02 molooe Ar Ehe nenbral ?as ;
ijfz:—'v/o ffm% (1)

Assume o stabic ﬂ/mﬂsﬁﬁ&fé (\7 =0, jéz = OJ which
B %orf'zom&,//él. sbaty Ged (V = é'j%)) an el
ﬁ“((ﬁ = mKT) ; \sothermal  cond, bom, (VT = O))
COMsznm[ @am/é«ﬁ)bm/ Ae/o( g\: -5)2 am[, fﬁﬁl
yM: VV)V)) uuhm g 1(5 (Lﬁf Mean MO/P(M/é(/ mas s

[N {he OAS. E?i/m[?'om (1) ¢hen &"KOMQS

0 =-4L(nkT) -mng? (2)
KT;'% = - gy (3)
M(eﬁmf% R "
gl = — g2 (5)

ol2)= v, eep (- ) (6)

/Xr Vi1 = 1/7/9) . }LL @//OWS Html Amv/fr 5&6{/?&
hove o sfeeper decline in concen baling with
albilnde 2, and as mg < Mp, < My, we
havwe Che dested result,

(b> )Omi%a(v'om bﬁ 5’0/4/” M&/th 50N JCCNTS &Vzlfﬁ m 5/4%/7%%
\Nkv‘(\@ r (’(omb{naf{am pes 0N p/mé émj m‘(fjhlé , Tht’
€/€(FIOV\ J@ms[v/? o refore Jr’/ﬁS &{,é /)1'0}\% oV
Lhose altihndes.



T 05031 )/5’)

(0\> e solar WI'V‘J 5/?6/“44 (ines

o

YGSE (RE)

20

40 T ST Bow SHOCK A
| ] |
0 =50 -100
XGSE (RE)

(b) Enerﬁa conserva bon

-’zr\/\\ll - @F—/ﬁ* = COWS'LZAVHZ = £ (l>

where rm s SFMPCMP\[ nmass, M = Earth mass
r=qeocen brie Aistance, v = spacecatt- speect.

Far ont Cr/7 M);

E=3mVs ) Vo= 5T kmfs e)
Al = 1900 Am

| T CmM 1 . GmM

_i Vv = E'f’ -—T—* = ZM\/o + = (g)




—
V = /—\/’OZT\Z é';M = ( L()

- -
T 2463007 41077
- A 003
(3.1:0°) +(ma+ 63712107 “/s

10,6 ;(:M/S

[c) We nse the rockef eﬁ[lxmfv‘om) Wﬁ/{%/fwﬁ
é/\e %ébmm é‘fl’”/f :
AV = Vel (I+ {,‘—2% (5)
For Ehe rfa( 0203{1#9\ (41/1:4(4)

= Lael mass = 437 ¢
My = vehicle mass = (?‘/‘Z%Z?Jé = )2 {

Ay = 3¢ /cw)/S
d\m{ we may calewlafe

Ve Av /)
Lﬂ(lf’%yf—v
10 661[ Av' = 3.9 hmfs with He same
My and Ve, we @eé
Av' = v b (14 5
J/ Av’/ _ Av/ "
Ir 2= e (98 e (57 DR D)
él/
(?)



3.9
- (pv»‘-,-,eg o)) R 8
r&mcy}v esbima e thos (s Ehatd we wonld by ve
V\e@f()fz(
M -rae = (819-637) ¢ = 182 dons
rmove fne( £ ﬁc( A sc,ﬁe@( of 3.9 hm/s.

(J) On((,a cnddiabon (s r(h/UJo/&m‘( wnder Ede
ASSMmJJ/nbm a,‘wem (n the frvé/em,
Evnitled  radiabion PONED
Pe = T AT
Ao = bobal ara = 4prr’
/Afbﬁz):‘befzﬁ O)me-
Pa = &« TA,
An = area Jvrojﬁcéc[ b lhe swm = ert
T = I34% , W/m" (so/armzm@ at 1A0)
EV\M@M balovce = o = =

T4 - alfa ]

4 0Ae 4g o

- /4
- O\L(?" lgé? ) 0
Ty x x e



